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SET -1
SUMMATIVE ASSESSMENT - I - 2018-2019
MATHEMATICS - PAPER-II
(English Medium)
PART-A& B

Class : (Max, Marks : 40) Time : 2.45 Hrs.

Tnstructions :

1. Question paper contains 2 parts (Part A & B).

2. Part - A & B should be given at the heginning of the exam only.

3. 15 minutes is allotted for reading the question paper (Part A &B) in
addition to 2,30 hours for writing the answers.

4. Part-A answers should be written in a separate answer book. Write the
answers to the questions under Part-B on the question paper tself

5. There are three Sections in Part - A,

6. Answer all the questions,

7. Every answer should e visible and legible.*

8. There s infernal choice in Section - Il

Marks : 30 PART-A
Section - 1
Note 1. Answer all the Questions.
2. Each Question carries 1 Mark. 4x1=4

1. Ifthe mean of 20, 24, 36, 26, 34 and K is 30 then find K.

2. The position of (3, 4) and (4, 3) are not the sams on graph. Why ?

3. Write comverse of the theorem "InAABC, if AB = AC then £C = ZB".

4. The ratio of consecutive angles of a parallelogram is 2 : 3. Find the angles.
Section - I

Note 1. Answer all the Questions.
Each Question carries 2 Marks 5x2=10

5. Find the median of the data.

[ Marks B T T [ T

[Foofstudens [0 [ & [ 6 [ 4 [ 1]




U-53-A

D, E and F are midpoints of the sides of riangle ABC
respectively. 1FAB = 8o, BC=7.2cmand AC=6em D) v
then find the perimeter of ADEF.

B E S
s
AABC and ADBC are two isosceles triangles on the
same base BC (see figure). Show thit ZABD =
ZACD. i -
¥

What is & cartesin plane ? Explain with a diagram

Give ay o examples for each from your daily e 10 find
(i) area of triangle

(@ areaof recuangle

Section - 111
Note: 1. Answer all the Questions.

2. Each Question carties 4 Marks.

3. Each question has infernal choice. 4x4=16
Fin the Mean o the following data in Devation Method.
l\\E\gM(iﬂkg}l 50 ] BEAE [ 110 [ \ZM
Worpmcels 25 ‘ n ] 38 \ ) | 47 | mJ

{OR)

T the Mean ofthe fallowing data s 206, find the missing frequency '
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11, TnABC, E and F are mid points of sides AB and AC respectively then prove that

1
() BFIBC and (i) BF =3 BC

(OR)
4 1o}
In Parallelogram ABCD, P and Q are any two
points lying on the sides DC and BC respectively. Q
Show that ar (AAPB) = ar (AAQD}
12 Prepare an ungrouped frequency for the following biained by

30 students in SSC public examination using tally marks,

A ARG BEE R B
Bienie, & &
A Bl E emiiw ity iR Ak

B, A 0B B A

b R

(OR)
Read the folowing table and answver the following questions given below.
[pis [alB]c]D[E[F[G]H]
l Coordinates | e |)|(o, 5)|43, -211(-2, -z>|(1, z)](z, 0)| (0,0) ’(-z, 0).‘

() The point belongs 10 Q,
(i) The abseissa of the point C
(i) The point i on xeaxis .
() The coordinates of oigin
©
() The point satisfy X~y

The point satsfy x > 0.

(si)The positon of point B
(vi) “The Quadrant contain (3, ~2)



U-53-A

Plot atleast five points on a graph sheet each having the sum of s coordinates
is equal to 6. What do you observe ? Wite your inference.
(Hint : (-2, 8), (1, 5), .. etc)

(OR)

Construct a triangle ABC with measures AB = Sem, BC = 4.2 em and
AC=650m. Measure the angles. Wit relatonship between sides and angles.
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Part- B
Marks : 10
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Note:
1. Answer all the question in Part - B

2. Each Question has 4 options. Write the capital letter indicating the
answer in the given brackets.
3. Marks are not awarded for over written or struck off answers.
4. All questions earry equal marks.
14, The mid value of the class 10-19 is e
8 14 B) 145 015 D) 155
1. For the given scores y = 12 and Y /1= 192 then n = ey
ARE] B 158 Q) 16 D) 18
16: The mode of the scores 12, 11, 12,9, 10, 9. 12, is e
49 B) 10 o1 D) 12

17. The area of triangle formed by the points (0, 0), (5, 0) and (0, 5}is ( )

A) Ssq.units  B) 7.5sq units €} 105q. units D) 1255, units



The exterior angl of an equilteral rangle s (
A 30 B 60" 0 %0 D) 120°

The opposite angles of a parallclogram are (3x~20)* and (x + 70)

then the value of x (
A 60 B) 55° Q) 45 D) 30°
Which one is not a congruency axiom of riangle (

A) 888 B) SAS C) ASA D) AAA

. A quadrlateral an be a rectangle” ithe following condition s

stisied. (
A) whendigonglsarcequal  B) when one angle s right angle

©) Anyone of Aor B D) BothAand B

The mathernatician, who developed Coordinate Geometry (
A) Eudid B) Ronald Fisher

C) Pythagorus D) Rene Descartes

‘The equation of x-axis is (
Ay=0 Br=0 Oy=zx D) xty=1
Ifx <0 and y > 0 then (-, y) belongs to which Quadrant 1%
8Q B0 D) Q,

The figure formed by joining the mid-poits of sides of parallelogram (
A) Rhombus  B) Squre € Paalilogram D) Rectangle

ABCD s 40 ad G5 D ¢
are bisectors of /A and £B then ZAOB =

A) 90 B 120°
o 180 D) 360°
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Which one of the following i an exarmple for a primry data G
A) Temperatures of 3 place during last 10 years

B) Mid day meals records of a school in a month

©) Literacy rate of various states in the year 2001

D) List of absentee students of a day in Sth class

1fthe mean height of 3 boys is 142cm and the mean height of another 7 students
s 145cm, then the mean height of 10 students 1o
A) Wem  B) Udlem () W42m D) [M44m

“The median of rational nurnbers

1
4 7 B)

Which of the points lic on y-axis £
A (2.0,6.0 B) (1,2,(2,2)

Q) (0.-2.(0.2) D) (-5,3),2,3)

‘Which congruency property is related to saisfy €

AABC = AABD in the given figure oy
A) SAS B ASA

) 88 D) RHS

5
In'any AABC, D is a point on BC such that ar (AABD) = ar (AADC)

then 7y represents b (TR
A} Altitude B) Median
C) Angle bisector D) Perpendicular Bisector
‘Which of the following pair o friangles have. D (
the same base and e between the same parallels /&
in the given figure A
A B
A) AAOB and ACOD B} AAOD and ABOC

C) AABC and AABD D) AABC and AADC
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